

Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

Project Name: Huntington Drive - San Gabriel BI/132' W/o Michillinda Avenue

Project ID: RDC0015735 Bids Opened: 7/13/2021

Bids Opened: 7/13/2021 Office Engineer: Kris Hernandez n/a

				Engine	er's Estimate	(1) Sequel Contractors, Inc.		(2) Sully-Mille	er Contracting Company	(3) All Ame	erican Asphalt	(4) Excel Pav	ng Company
(1) Pre	eliminary Bid Amount					\$	4,745,494.75	\$	4,963,000.00	\$	5,256,282.40	\$	5,538,221.80
(2) Un	it Price Detail												
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
1	CONSTRUCTION SCHEDULE	1	\$2,000.00	LS	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
	(BASELINE) (STIPULATED												
	UNIT PRICE OF \$2,000)												
2	CONSTRUCTION SCHEDULE	12	\$500.00	MTH	\$6,000.00	\$500.00	\$6,000.00	\$500.00	\$6,000.00	\$500.00	\$6,000.00	\$500.00	\$6,000.00
	(UPDATE) (STIPULATED UNIT												
	PRICE OF \$500/MONTH)												
3	CONSTRUCTION SCHEDULE	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
	(AS-BUILT) (STIPULATED												
	UNIT PRICE OF \$1,000)		* * * * * * * * * *		20.000.00	04.00	00.000.00	04.00	#0.000.00	04.00	***		***
4	CITY PERMIT AND	2000	\$1.00	AL	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00
	INSPECTION FEES												
	(ALLOWANCE OF \$2,000)		#25 000 00		#25 000 00	#2F 000 00	#25 000 00	£45,000,00	£45.000.00	£420,000,00	£420,000,00	£42.000.00	\$12,000.00
5	IMPLEMENTATION OF THE	1	\$25,000.00	LS	\$25,000.00	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00	\$120,000.00	\$120,000.00	\$12,000.00	\$12,000.00
	LTWHP		#0.F00.00		£2.500.00	#2 F00 00	#2 F00 00	#2 F00 00	#2 F00 00	#0 F00 00	£2 500 00	¢2 500 00	£2 500 00
6	PREPARATION OF THE	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
	SWPPP (STIPULATED UNIT PRICE OF \$2,500)												
7	IMPLEMENTATION OF THE	1	\$100,000.00	LS	\$100,000.00	\$20,000.00	\$20,000.00	\$9,500.00	\$9,500.00	\$20,000.00	\$20,000.00	\$36,000.00	\$36,000.00
'	SWPPP	ı	\$100,000.00	LS	\$100,000.00	Ψ20,000.00	Ψ20,000.00	ψ9,300.00	ψ9,300.00	Ψ20,000.00	Ψ20,000.00	ψ30,000.00	ψ30,000.00
- 8	SHORING OF OPEN	1	\$59,000.00	LS	\$59,000.00	\$10,000.00	\$10,000.00	\$10,500.00	\$10,500.00	\$2,800.00	\$2,800.00	\$6,000.00	\$6,000.00
٩	EXCAVATIONS	•	****	LO	****	* ,	* * * * * * * * * * * * * * * * * * * *	* ***,********************************	, ,	+ =,	+ =,	**,******	, , ,
9	OFFICE FACILITIES	13	\$6,000.00	MTH	\$78,000.00	\$2,500.00	\$32,500.00	\$4,000.00	\$52,000.00	\$3,750.00	\$48,750.00	\$1,500.00	\$19,500.00
10	MOBILIZATION	1	\$720,000.00	LS	\$720,000.00	\$200,000.00	\$200,000.00	\$371,781.74	\$371,781.74	\$110,250.00	\$110,250.00	\$536,000.00	\$536,000.00
11	CLEARING AND GRUBBING	1	\$103,000.00	LS	\$103,000.00	\$90,000.00	\$90,000.00	\$85,000.00	\$85,000.00	\$90,000.00	\$90,000.00	\$148,000.00	\$148,000.00
12	CONCRETE REMOVAL (NON-	395	\$212.00	CY	\$83,740.00	\$160.00	\$63,200.00	\$155.00	\$61,225.00	\$190.00	\$75,050.00	\$200.00	\$79,000.00
· -	REINFORCED)			•									

Project ID: RDC0015735 Bids Opened: 7/13/2021 Office Engineer: Kris Hernandez n/a

	Engin		eer's Estimate	(1) Sequel Contractors, Inc.		(2) Sully-Miller Contracting Company		(3) All Ame	erican Asphalt	(4) Excel Pav	ing Company		
(1) Pre	eliminary Bid Amount					\$	4,745,494.75	\$	64,963,000.00	\$	5,256,282.40	\$	5,538,221.80
(2) Un	it Price Detail												
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
13	CONCRETE REMOVAL (REINFORCED)	32	\$239.00	CY	\$7,648.00	\$175.00	\$5,600.00	\$180.00	\$5,760.00	\$360.00	\$11,520.00	\$245.00	\$7,840.00
14	UNCLASSIFIED EXCAVATION	1903	\$73.00	CY	\$138,919.00	\$98.00	\$186,494.00	\$27.00	\$51,381.00	\$40.00	\$76,120.00	\$110.00	\$209,330.00
15	CRUSHED AGGREGATE BASE	242	\$59.00	CY	\$14,278.00	\$45.00	\$10,890.00	\$105.00	\$25,410.00	\$140.00	\$33,880.00	\$150.00	\$36,300.00
16	CRUSHED MISCELLANEOUS BASE	2063	\$61.00	CY	\$125,843.00	\$20.00	\$41,260.00	\$52.00	\$107,276.00	\$52.00	\$107,276.00	\$47.00	\$96,961.00
17	TRENCH BACKFILL SLURRY (CLASS 100-E-100)	85	\$250.00	CY	\$21,250.00	\$400.00	\$34,000.00	\$167.00	\$14,195.00	\$220.00	\$18,700.00	\$172.00	\$14,620.00
18	TRENCH BACKFILL SLURRY (CLASS 270-E-500)	37	\$265.00	CY	\$9,805.00	\$260.00	\$9,620.00	\$188.00	\$6,956.00	\$175.00	\$6,475.00	\$235.00	\$8,695.00
19	COLD MILL AC PAVEMENT (> 3")	713350	\$0.84	SF	\$599,214.00	\$0.67	\$477,944.50	\$0.45	\$321,007.50	\$0.72	\$513,612.00	\$0.70	\$499,345.00
20	GRIND PCC PAVEMENT	20	\$10.00	SF	\$200.00	\$50.00	\$1,000.00	\$85.00	\$1,700.00	\$50.00	\$1,000.00	\$100.00	\$2,000.00
21	AC PAVEMENT	11384	\$102.00	TON	\$1,161,168.00	\$71.00	\$808,264.00	\$80.00	\$910,720.00	\$70.00	\$796,880.00	\$68.00	\$774,112.00
22	AC PAVEMENT(PATCH BACK)	52	\$275.00	TON	\$14,300.00	\$550.00	\$28,600.00	\$245.00	\$12,740.00	\$165.00	\$8,580.00	\$214.00	\$11,128.00
23	RECONSTRUCT MANHOLE	15	\$7,000.00	EA	\$105,000.00	\$2,500.00	\$37,500.00	\$1,925.00	\$28,875.00	\$2,300.00	\$34,500.00	\$1,200.00	\$18,000.00
24	DOUBLE ADJUST WATER VALVE FRAME AND COVER PER DETAIL A ON SHEET 3	3	\$2,000.00	EA	\$6,000.00	\$2,000.00	\$6,000.00	\$775.00	\$2,325.00	\$820.00	\$2,460.00	\$1,200.00	\$3,600.00
25	ADJUST WATER VALVE FRAME AND COVER TO NEW GRADE	17	\$500.00	EA	\$8,500.00	\$600.00	\$10,200.00	\$425.00	\$7,225.00	\$515.00	\$8,755.00	\$500.00	\$8,500.00
26	ADJUST WATER VAULT PER DETAIL B ON SHEET 12	1	\$2,000.00	EA	\$2,000.00	\$6,000.00	\$6,000.00	\$3,250.00	\$3,250.00	\$2,800.00	\$2,800.00	\$3,000.00	\$3,000.00
27	PCC PAVEMENT	126	\$220.00	CY	\$27,720.00	\$350.00	\$44,100.00	\$350.00	\$44,100.00	\$330.00	\$41,580.00	\$560.00	\$70,560.00
28	ASPHALT RUBBER HOT MIX	8420	\$106.00	TON	\$892,520.00	\$83.00	\$698,860.00	\$100.00	\$842,000.00	\$85.00	\$715,700.00	\$86.00	\$724,120.00
29	ASPHALT RUBBER HOT MIX (TEST STRIP)	500	\$170.00	TON	\$85,000.00	\$100.00	\$50,000.00	\$125.00	\$62,500.00	\$125.00	\$62,500.00	\$88.00	\$44,000.00
30	DRILL AND BOND DOWEL	534	\$100.00	LF	\$53,400.00	\$7.00	\$3,738.00	\$9.00	\$4,806.00	\$13.00	\$6,942.00	\$20.00	\$10,680.00
31	CATCH BASIN PER STD PLAN 300, W=3.5	2	\$13,800.00	EA	\$27,600.00	\$12,000.00	\$24,000.00	\$7,200.00	\$14,400.00	\$6,000.00	\$12,000.00	\$6,000.00	\$12,000.00

Project ID: RDC0015735

Rids Opened: 7/13/2021

Bids Opened: 7/13/2021 Office Engineer: Kris Hernandez n/a

			Engine	eer's Estimate	(1) Sequel Contractors, Inc.		(2) Sully-Miller Contracting Company		(3) All Ame	rican Asphalt	(4) Excel Pavi	ng Company	
(1) Pre	eliminary Bid Amount					\$	4,745,494.75	\$	4,963,000.00	\$	5,256,282.40	\$!	5,538,221.80
(2) Un	it Price Detail												
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
32	BICYCLE CATCH BASIN GRATE PER CITY OF LOS ANGELES STD PLAN S-342-4	7	\$12,000.00	EA	\$84,000.00	\$1,500.00	\$10,500.00	\$1,200.00	\$8,400.00	\$1,500.00	\$10,500.00	\$650.00	\$4,550.00
33	LOCAL DEPRESSION PER SPPWC STD PLAN 313-3, CASE D	2	\$2,900.00	EA	\$5,800.00	\$1,500.00	\$3,000.00	\$1,200.00	\$2,400.00	\$1,800.00	\$3,600.00	\$2,300.00	\$4,600.00
34	LOCAL DEPRESSION PER SPPWC STD PLAN 313-3, CASE E	1	\$1,400.00	EA	\$1,400.00	\$1,700.00	\$1,700.00	\$1,200.00	\$1,200.00	\$1,550.00	\$1,550.00	\$2,300.00	\$2,300.00
35	MANHOLE PER STD PLAN 320	2	\$12,300.00	EA	\$24,600.00	\$15,000.00	\$30,000.00	\$9,500.00	\$19,000.00	\$7,800.00	\$15,600.00	\$8,000.00	\$16,000.00
36	MANHOLE PER STD PLAN 321	1	\$12,300.00	EA	\$12,300.00	\$14,000.00	\$14,000.00	\$8,200.00	\$8,200.00	\$7,200.00	\$7,200.00	\$7,800.00	\$7,800.00
37	PCC CURB, TYPE A1-6	2	\$109.00	LF	\$218.00	\$75.00	\$150.00	\$138.00	\$276.00	\$25.00	\$50.00	\$43.00	\$86.00
38	PCC CURB, TYPE A1-VAR	124	\$62.00	LF	\$7,688.00	\$38.00	\$4,712.00	\$47.50	\$5,890.00	\$20.00	\$2,480.00	\$37.00	\$4,588.00
39	PCC CURB & GUTTER, TYPE A2-6	1802	\$50.00	LF	\$90,100.00	\$38.00	\$68,476.00	\$37.00	\$66,674.00	\$32.00	\$57,664.00	\$45.00	\$81,090.00
40	PCC CURB & GUTTER, TYPE A2-8	148	\$65.00	LF	\$9,620.00	\$40.00	\$5,920.00	\$44.00	\$6,512.00	\$33.00	\$4,884.00	\$45.00	\$6,660.00
41	PCC CURB & GUTTER, TYPE A2-VAR	492	\$55.00	LF	\$27,060.00	\$40.00	\$19,680.00	\$42.00	\$20,664.00	\$35.00	\$17,220.00	\$46.00	\$22,632.00
42	PCC CURB & GUTTER, TYPE A3-6	36	\$100.00	LF	\$3,600.00	\$43.00	\$1,548.00	\$56.00	\$2,016.00	\$36.00	\$1,296.00	\$55.00	\$1,980.00
43	PCC CURB INLET AND OUTLET	27	\$4,000.00	EA	\$108,000.00	\$1,000.00	\$27,000.00	\$575.00	\$15,525.00	\$1,230.00	\$33,210.00	\$1,100.00	\$29,700.00
44	PCC WALK, 4" THICK	2498	\$12.00	SF	\$29,976.00	\$15.00	\$37,470.00	\$7.20	\$17,985.60	\$7.25	\$18,110.50	\$9.00	\$22,482.00
45	PCC CURB RAMPS	40	\$800.00	CY	\$32,000.00	\$1,400.00	\$56,000.00	\$800.00	\$32,000.00	\$930.00	\$37,200.00	\$950.00	\$38,000.00
46	DETECTABLE WARNING SURFACE	307	\$5.00	SF	\$1,535.00	\$15.00	\$4,605.00	\$35.00	\$10,745.00	\$65.00	\$19,955.00	\$35.00	\$10,745.00
47	CROSS GUTTER	13	\$300.00	CY	\$3,900.00	\$550.00	\$7,150.00	\$520.00	\$6,760.00	\$405.00	\$5,265.00	\$640.00	\$8,320.00
48	18" RCP, 2500 D	50	\$400.00	LF	\$20,000.00	\$500.00	\$25,000.00	\$595.00	\$29,750.00	\$760.00	\$38,000.00	\$900.00	\$45,000.00
49	CONSTRUCT PIPE SEAL FOR 18" PIPE PER STD PLAN 381-2	1	\$2,700.00	EA	\$2,700.00	\$5,000.00	\$5,000.00	\$450.00	\$450.00	\$8,800.00	\$8,800.00	\$2,000.00	\$2,000.00

Project ID: RDC0015735

Bids Opened: 7/13/2021 Office Engineer: Kris Hernandez n/a

				Engine	eer's Estimate	nate (1) Sequel Contractors, Inc.		(2) Sully-Mille	2) Sully-Miller Contracting (3) A Company		rican Asphalt	(4) Excel Pavi	ng Company
(1) Pre	eliminary Bid Amount					\$	4,745,494.75	\$4,963,000.00		\$	5,256,282.40	\$5,538,221.80	
(2) Un	it Price Detail												
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
50	CONSTRUCT PIPE SEAL FOR	1	\$3,000.00	EA	\$3,000.00	\$5,000.00	\$5,000.00	\$1,000.00	\$1,000.00	\$28,000.00	\$28,000.00	\$3,600.00	\$3,600.00
	48" PIPE PER STD PLAN 381-2												
51	SEAL 18" PIPE WITH 8" BRICK	1	\$3,200.00	EA	\$3,200.00	\$5,000.00	\$5,000.00	\$465.00	\$465.00	\$500.00	\$500.00	\$1,800.00	\$1,800.00
31	AND CEMENT MORTAR	'	ψο,200.00	LA	ψ3,200.00	ψο,σσσ.σσ	ψο,σσσ.σσ	Ψ100.00	Ψ100.00	Ψ000.00	φοσο.σσ	ψ1,000.00	Ψ1,000.00
52	SEAL 48" PIPE WITH 8" BRICK	1	\$4,500.00	EA	\$4,500.00	\$5,000.00	\$5,000.00	\$930.00	\$930.00	\$1,100.00	\$1,100.00	\$4,000.00	\$4,000.00
	AND CEMENT MORTAR												
53	REPAIR MORTAR	1	\$2,000.00	CY	\$2,000.00	\$4,500.00	\$4,500.00	\$1,860.00	\$1,860.00	\$1,700.00	\$1,700.00	\$6,000.00	\$6,000.00
54	3" CONDUIT (SCH 80 PVC)	795	\$20.00	LF	\$15,900.00	\$55.00	\$43,725.00	\$55.40	\$44,043.00	\$56.00	\$44,520.00	\$55.00	\$43,725.00
55	3-CONDUCTOR SIGNAL	1538	\$3.00	LF	\$4,614.00	\$3.00	\$4,614.00	\$3.05	\$4,690.90	\$3.10	\$4,767.80	\$3.00	\$4,614.00
	CABLE(EXCLUDING												
	CONDUIT)												
56	5-CONDUCTOR SIGNAL	356	\$5.00	LF	\$1,780.00	\$4.00	\$1,424.00	\$3.65	\$1,299.40	\$3.70	\$1,317.20	\$4.00	\$1,424.00
	CABLE(EXCLUDING												
	CONDUIT)	0070	£40.00		#2C 040 00	ФС 00	£40, 400, 00	\$5.55	#47.000.F0	ΦE 05	\$17,345.50	\$6.00	\$18,420.00
57	12-CONDUCTOR SIGNAL	3070	\$12.00	LF	\$36,840.00	\$6.00	\$18,420.00	\$5.55	\$17,038.50	\$5.65	\$17,345.50	\$6.00	\$18,420.00
	CABLE(EXCLUDING CONDUIT)												
58	WIRE #6	75	\$2.00	LF	\$150.00	\$3.00	\$225.00	\$2.45	\$183.75	\$2.50	\$187.50	\$3.00	\$225.00
59	WIRE #10	3440	\$1.00	LF	\$3,440.00	\$1.25	\$4,300.00	\$1.25	\$4,300.00	\$1.25	\$4,300.00	\$1.20	\$4,128.00
60	COMPOSITE TYPE 3 PULL	13	\$767.00	EA	\$9,971.00	\$1,000.00	\$13,000.00	\$1,110.00	\$14,430.00	\$1,130.00	\$14,690.00	\$1,100.00	\$14,300.00
00	BOX INCL COVER	13	Ψ7.07.00	LA	ψο,ον 1.00	Ψ1,000.00	Ψ10,000.00	Ψ1,110.00	Ψ14,400.00	ψ1,100.00	Ψ14,000.00	ψ1,100.00	φ14,000.00
61	NO. 6 PULL BOX INCL PCC	2	\$1,805.00	EA	\$3,610.00	\$1,000.00	\$2,000.00	\$925.00	\$1,850.00	\$945.00	\$1,890.00	\$920.00	\$1,840.00
0.1	COVER	_	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		73,513133	+ 1,00000	7 =,55555	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	* 1,222122	*******	* 1,000.00	****	+ 1,0 1010
62	INDUCTIVE LOOP DETECTOR	1775	\$35.23	LF	\$62,533.25	\$12.00	\$21,300.00	\$15.00	\$26,625.00	\$15.50	\$27,512.50	\$15.00	\$26,625.00
-	AND LEADS SAW CUT												
63	TYPE 2070 CONTROLLER	1	\$30,917.00	EA	\$30,917.00	\$6,000.00	\$6,000.00	\$6,100.00	\$6,100.00	\$6,450.00	\$6,450.00	\$6,000.00	\$6,000.00
64	GPS UTB UNIT AND	1	\$1,497.00	EA	\$1,497.00	\$2,000.00	\$2,000.00	\$2,015.00	\$2,015.00	\$2,050.00	\$2,050.00	\$2,000.00	\$2,000.00
	ANTENNA												
65	4-CAMERA VIDEO/RADAR	1	\$35,000.00	EA	\$35,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$49,000.00	\$49,000.00
	DETECTION SYSTEM												
	(COMPLETE), RACK MOUNT												
	17" LCD MONITOR												
66	SWITCH PACK	9	\$42.00	EA	\$378.00	\$100.00	\$900.00	\$60.00	\$540.00	\$62.00	\$558.00	\$60.00	\$540.00

Project ID: RDC0015735 Bids Opened: 7/13/2021 Office Engineer: Kris Hernandez n/a

				Engine	eer's Estimate	,		(2) Sully-Miller Contracting Company		(3) All American Asphalt		(4) Excel Paving Company	
(1) Pre	eliminary Bid Amount			\$4,745,494.75			4,745,494.75	\$	4,963,000.00	\$	5,256,282.40	\$5	5,538,221.80
(2) Un	it Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
67	PED ISOLATION MODULE	2	\$63.50	EA	\$127.00	\$100.00	\$200.00	\$80.58	\$161.16	\$82.00	\$164.00	\$80.00	\$160.00
68	TYPE 332 CABINET	1	\$11,811.00	EA	\$11,811.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$11,800.00	\$11,800.00	\$11,500.00	\$11,500.00
69	TYPE 332 CABINET FOUNDATION	1	\$1,086.00	EA	\$1,086.00	\$1,500.00	\$1,500.00	\$1,520.00	\$1,520.00	\$1,600.00	\$1,600.00	\$1,500.00	\$1,500.00
70	TYPE III-BF SERVICE CABINET	1	\$3,188.00	EA	\$3,188.00	\$8,000.00	\$8,000.00	\$8,060.00	\$8,060.00	\$8,200.00	\$8,200.00	\$8,000.00	\$8,000.00
71	SCE WORK (ALLOWANCE OF \$10,000)	10000	\$1.00	AL	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
72	TYPE III-B SERVICE CABINET FOUNDATION	1	\$1,085.00	EA	\$1,085.00	\$1,500.00	\$1,500.00	\$1,520.00	\$1,520.00	\$1,600.00	\$1,600.00	\$1,500.00	\$1,500.00
73	TYPE 1 STANDARD	2	\$794.00	EA	\$1,588.00	\$2,200.00	\$4,400.00	\$2,180.00	\$4,360.00	\$2,200.00	\$4,400.00	\$2,200.00	\$4,400.00
74	TYPE 15 STANDARD	6	\$2,476.00	EA	\$14,856.00	\$5,500.00	\$33,000.00	\$5,340.00	\$32,040.00	\$5,400.00	\$32,400.00	\$5,300.00	\$31,800.00
75	TYPE 17 STANDARD	1	\$4,981.00	EA	\$4,981.00	\$9,000.00	\$9,000.00	\$9,050.00	\$9,050.00	\$9,200.00	\$9,200.00	\$9,000.00	\$9,000.00
76	TYPE 29 STANDARD	2	\$6,675.00	EA	\$13,350.00	\$15,000.00	\$30,000.00	\$13,800.00	\$27,600.00	\$14,000.00	\$28,000.00	\$14,000.00	\$28,000.00
77	TYPE 1 STANDARD FOUNDATION	2	\$747.00	EA	\$1,494.00	\$2,000.00	\$4,000.00	\$2,020.00	\$4,040.00	\$2,050.00	\$4,100.00	\$2,000.00	\$4,000.00
78	TYPE 15 STANDARD FOUNDATION	6	\$3,659.00	EA	\$21,954.00	\$2,500.00	\$15,000.00	\$2,420.00	\$14,520.00	\$2,450.00	\$14,700.00	\$2,400.00	\$14,400.00
79	TYPE 17 STANDARD FOUNDATION	1	\$4,813.00	EA	\$4,813.00	\$4,000.00	\$4,000.00	\$3,800.00	\$3,800.00	\$3,800.00	\$3,800.00	\$3,700.00	\$3,700.00
80	TYPE 29 STANDARD FOUNDATION	2	\$4,813.00	EA	\$9,626.00	\$6,000.00	\$12,000.00	\$5,500.00	\$11,000.00	\$5,550.00	\$11,100.00	\$5,400.00	\$10,800.00
81	20' SIGNAL MAST ARM	1	\$1,942.00	EA	\$1,942.00	\$3,500.00	\$3,500.00	\$3,400.00	\$3,400.00	\$3,400.00	\$3,400.00	\$3,400.00	\$3,400.00
82	55' SIGNAL MAST ARM	2	\$5,034.00	EA	\$10,068.00	\$8,000.00	\$16,000.00	\$8,050.00	\$16,100.00	\$8,200.00	\$16,400.00	\$8,000.00	\$16,000.00
83	12' LUMINAIRE MAST ARM	6	\$1,165.00	EA	\$6,990.00	\$1,600.00	\$9,600.00	\$1,550.00	\$9,300.00	\$1,600.00	\$9,600.00	\$1,600.00	\$9,600.00
84	15' LUMINAIRE MAST ARM	4	\$1,457.00	EA	\$5,828.00	\$1,500.00	\$6,000.00	\$1,575.00	\$6,300.00	\$1,600.00	\$6,400.00	\$1,600.00	\$6,400.00
85	LED LUMINAIRES (200W HPS EQUIVALENT)	10	\$993.00	EA	\$9,930.00	\$1,000.00	\$10,000.00	\$945.00	\$9,450.00	\$960.00	\$9,600.00	\$940.00	\$9,400.00
86	PEDESTRIAN PUSH BUTTON	6	\$1,542.00	EA	\$9,252.00	\$1,200.00	\$7,200.00	\$1,110.00	\$6,660.00	\$1,150.00	\$6,900.00	\$1,100.00	\$6,600.00
87	PEDESTRIAN PUSH BUTTON PLATE	6	\$67.00	EA	\$402.00	\$25.00	\$150.00	\$20.00	\$120.00	\$19.00	\$114.00	\$18.00	\$108.00
88	RETROREFLECTIVE STREET NAME SIGN	5	\$1,700.00	EA	\$8,500.00	\$1,200.00	\$6,000.00	\$1,110.00	\$5,550.00	\$1,130.00	\$5,650.00	\$1,100.00	\$5,500.00

Project ID: RDC0015735

Rids Opened: 7/13/2021

Bids Opened: 7/13/2021 Office Engineer: Kris Hernandez n/a

				Engine	eer's Estimate	(1) Sequel Cor	ntractors, Inc.	(2) Sully-Mille	er Contracting Company	(3) All Ame	rican Asphalt	(4) Excel Pav	ing Company
(1) Pre	eliminary Bid Amount					\$	4,745,494.75	\$	4,963,000.00	\$	5,256,282.40	\$	5,538,221.80
(2) Un	it Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
89	3-12" LED VEHICLE HEAD (COMPLETE)	18	\$1,270.00	EA	\$22,860.00	\$900.00	\$16,200.00	\$890.00	\$16,020.00	\$900.00	\$16,200.00	\$900.00	\$16,200.00
90	LED COUNTDOWN PEDESTRIAN HEAD (COMPLETE)	8	\$710.00	EA	\$5,680.00	\$900.00	\$7,200.00	\$840.00	\$6,720.00	\$850.00	\$6,800.00	\$840.00	\$6,720.00
91	DETAIL 9 (THERMOPLASTIC)	41053	\$0.80	LF	\$32,842.40	\$0.30	\$12,315.90	\$0.35	\$14,368.55	\$0.40	\$16,421.20	\$0.35	\$14,368.55
92	DETAIL 21 (THERMOPLASTIC)	240	\$1.76	LF	\$422.40	\$0.75	\$180.00	\$0.80	\$192.00	\$0.85	\$204.00	\$0.80	\$192.00
93	DETAIL 25 (THERMOPLASTIC)	90	\$2.29	LF	\$206.10	\$0.50	\$45.00	\$0.55	\$49.50	\$0.65	\$58.50	\$0.55	\$49.50
94	DETAIL 27 (THERMOPLASTIC)	310	\$4.58	LF	\$1,419.80	\$0.75	\$232.50	\$0.55	\$170.50	\$1.05	\$325.50	\$0.55	\$170.50
95	DETAIL 27B (THERMOPLASTIC)	8247	\$0.88	LF	\$7,257.36	\$0.45	\$3,711.15	\$0.55	\$4,535.85	\$0.65	\$5,360.55	\$0.55	\$4,535.85
96	DETAIL 38 (THERMOPLASTIC)	2462	\$3.16	LF	\$7,779.92	\$1.25	\$3,077.50	\$0.80	\$1,969.60	\$0.75	\$1,846.50	\$0.80	\$1,969.60
97	DETAIL 39 (THERMOPLASTIC)	10339	\$1.96	LF	\$20,264.44	\$0.60	\$6,203.40	\$0.75	\$7,754.25	\$0.50	\$5,169.50	\$0.75	\$7,754.25
98	DETAIL 39A (THERMOPLASTIC)	11800	\$2.32	LF	\$27,376.00	\$0.60	\$7,080.00	\$0.45	\$5,310.00	\$0.50	\$5,900.00	\$0.45	\$5,310.00
99	PAVEMENT MARKINGS (THERMOPLASTIC)	1296	\$5.00	SF	\$6,480.00	\$5.00	\$6,480.00	\$5.00	\$6,480.00	\$4.10	\$5,313.60	\$5.00	\$6,480.00
100	CONTINENTAL CROSSWALK (THERMOPLASTIC)	4134	\$5.00	SF	\$20,670.00	\$3.00	\$12,402.00	\$2.50	\$10,335.00	\$1.85	\$7,647.90	\$2.50	\$10,335.00
101	4" STRIPING (THERMOPLASTIC)	820	\$4.00	LF	\$3,280.00	\$0.50	\$410.00	\$0.80	\$656.00	\$0.65	\$533.00	\$0.80	\$656.00
102	8" STRIPING (THERMOPLASTIC)	160	\$5.00	LF	\$800.00	\$1.00	\$160.00	\$1.20	\$192.00	\$0.85	\$136.00	\$1.20	\$192.00
103	12" STRIPING (THERMOPLASTIC)	1594	\$7.00	LF	\$11,158.00	\$3.00	\$4,782.00	\$2.50	\$3,985.00	\$1.85	\$2,948.90	\$2.50	\$3,985.00
104	CURB MARKINGS (ONE-COAT PAINT)	213	\$3.00	LF	\$639.00	\$3.00	\$639.00	\$1.20	\$255.60	\$2.05	\$436.65	\$1.20	\$255.60
105	REMOVE DETAIL 9 (THERMOPLASTIC)	5349	\$1.20	LF	\$6,418.80	\$0.45	\$2,407.05	\$2.25	\$12,035.25	\$0.65	\$3,476.85	\$2.25	\$12,035.25
106	REMOVE DETAIL 38 (THERMOPLASTIC)	1455	\$1.20	LF	\$1,746.00	\$0.90	\$1,309.50	\$2.25	\$3,273.75	\$1.05	\$1,527.75	\$2.25	\$3,273.75
107	REMOVE PAVEMENT MARKINGS (THERMOPLASTIC)	135	\$7.00	SF	\$945.00	\$1.50	\$202.50	\$2.25	\$303.75	\$1.25	\$168.75	\$2.25	\$303.75

Project ID: RDC0015735

Rids Opened: 7/13/2021

Bids Opened: 7/13/2021 Office Engineer: Kris Hernandez n/a

				Engine	eer's Estimate	(1) Sequel Contractors, Inc.		(2) Sully-Miller Contracting Company		(3) All Ame	(3) All American Asphalt		ing Company
(1) Pre	eliminary Bid Amount					\$	4,745,494.75	9	64,963,000.00	\$	5,256,282.40	\$	5,538,221.80
(2) Un	it Price Detail												
<u>Ìtem</u>	<u>Description</u>	Qty	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
108	REMOVE 4" STRIPING (THERMOPLASTIC)	80	\$3.00	LF	\$240.00	\$1.00	\$80.00	\$2.25	\$180.00	\$0.50	\$40.00	\$2.25	\$180.00
109	REMOVE 12" STRIPING (THERMOPLASTIC)	105	\$7.00	LF	\$735.00	\$2.00	\$210.00	\$2.25	\$236.25	\$1.25	\$131.25	\$2.25	\$236.25
110	INSTALL FIRE HYDRANT LOCATION RPM	15	\$150.00	EA	\$2,250.00	\$10.00	\$150.00	\$20.00	\$300.00	\$16.00	\$240.00	\$20.00	\$300.00
111	SIGN PANEL	34	\$250.00	EA	\$8,500.00	\$100.00	\$3,400.00	\$95.00	\$3,230.00	\$97.00	\$3,298.00	\$95.00	\$3,230.00
112	ONE-POST (ROADSIDE SIGN)	22	\$800.00	EA	\$17,600.00	\$200.00	\$4,400.00	\$125.00	\$2,750.00	\$155.00	\$3,410.00	\$125.00	\$2,750.00
113	INSTALL SIGN (STRAP AND SADDLE BRACKET)	28	\$210.00	EA	\$5,880.00	\$100.00	\$2,800.00	\$100.00	\$2,800.00	\$120.00	\$3,360.00	\$100.00	\$2,800.00
114	RELOCATE SIGN	1	\$2,500.00	EA	\$2,500.00	\$300.00	\$300.00	\$80.00	\$80.00	\$155.00	\$155.00	\$80.00	\$80.00
115	REMOVE SIGN POST	7	\$320.00	EA	\$2,240.00	\$100.00	\$700.00	\$45.00	\$315.00	\$26.00	\$182.00	\$45.00	\$315.00
116	TRAFFIC CONTROL	1	\$535,000.00	LS	\$535,000.00	\$200,000.00	\$200,000.00	\$75,000.00	\$75,000.00	\$480,000.00	\$480,000.00	\$573,000.00	\$573,000.00
117	FLASHING ARROW SIGN	3	\$3,200.00	EA	\$9,600.00	\$20,000.00	\$60,000.00	\$13,500.00	\$40,500.00	\$6,000.00	\$18,000.00	\$7,000.00	\$21,000.00
118	CHANGEABLE MESSAGE SIGN	2	\$5,000.00	EA	\$10,000.00	\$40,000.00	\$80,000.00	\$25,000.00	\$50,000.00	\$16,000.00	\$32,000.00	\$14,000.00	\$28,000.00
119	ROOT PRUNE TREE (INCL ROOT CONTROL BARRIER)	8	\$450.00	EA	\$3,600.00	\$1,000.00	\$8,000.00	\$1,200.00	\$9,600.00	\$460.00	\$3,680.00	\$450.00	\$3,600.00
120	LANDSCAPING	1	\$183,000.00	LS	\$183,000.00	\$150,000.00	\$150,000.00	\$124,000.00	\$124,000.00	\$135,000.00	\$135,000.00	\$132,000.00	\$132,000.00
121	IMPORTED TOPSOIL	840	\$70.00	CY	\$58,800.00	\$52.00	\$43,680.00	\$68.00	\$57,120.00	\$66.00	\$55,440.00	\$65.00	\$54,600.00
122	IRRIGATION SYSTEM	1	\$202,000.00	LS	\$202,000.00	\$95,000.00	\$95,000.00	\$113,400.00	\$113,400.00	\$70,000.00	\$70,000.00	\$70,000.00	\$70,000.00
123	DECOMPOSED GRANITE, 4" THICK	42445	\$4.66	SF	\$197,793.70	\$3.65	\$154,924.25	\$3.90	\$165,535.50	\$8.00	\$339,560.00	\$5.21	\$221,138.45
124	RIVER ROCK PAVING	19066	\$16.00	SF	\$305,056.00	\$4.75	\$90,563.50	\$7.50	\$142,995.00	\$10.00	\$190,660.00	\$6.25	\$119,162.50
125	AGRONOMIC SOIL REPORT	3	\$5,000.00	EA	\$15,000.00	\$500.00	\$1,500.00	\$520.00	\$1,560.00	\$510.00	\$1,530.00	\$500.00	\$1,500.00
126	DRAINAGE SUMP WITH ATRIUM GRATE DRAIN	7	\$1,800.00	EA	\$12,600.00	\$500.00	\$3,500.00	\$361.00	\$2,527.00	\$310.00	\$2,170.00	\$300.00	\$2,100.00
127	ALUMINUM EDGING	9661	\$6.00	LF	\$57,966.00	\$10.00	\$96,610.00	\$36.10	\$348,762.10	\$20.00	\$193,220.00	\$10.00	\$96,610.00
128	90 DAY PLANT ESTABLISHMENT PERIOD	1	\$30,000.00	LS	\$30,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00
129	EXPLORATORY EXCAVATION OF UTILITIES (ALLOWANCE OF \$10,000)	10000	\$1.00	AL	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
Unit P	Init Price Total			9	57,167,909.17	\$	4,745,494.75	9	64,963,000.00	\$	5,256,282.40	\$	5,538,221.80

Project ID: RDC0015735

Bids Opened: 7/13/2021

Bids Opened: 7/13/2021 Office Engineer: Kris Hernandez n/a

			Engin	neer's Estimate (1) Sequel Contractors, Inc.		(2) Sully-Mille	r Contracting Company	(3) All American Asphalt		(4) Excel Pav	ring Company	
(1) Preliminary Bid Amount						34,745,494.75	\$4,963,000 .		\$5,256,282.40		\$5,538,221	
(2) Unit Price Detail <a blue;"="" color:="" href="https://example.com/linearing-style=">Item Description (3) LSBE/DVBE/SE Preference Amount	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u> \$0.00	<u>Unit Price</u>	<u>Amount</u> \$0.00	<u>Unit Price</u>	<u>Amount</u> \$0.00	<u>Unit Price</u>	Amount \$0.00
(4) LSBE/DVBE/SE Adjusted Amount	BE/DVBE/SE Adjusted Amount			\$4,745,494.75		\$4,963,000.00		\$5	,256,282.40	\$	55,538,221.80	
Comments					APPARENT L	OW BIDDER			NON RE	SPONSIVE		